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Z00LOGY
[GENERAL]
Paper : 1
[OLD SYLLABUS]
Full Marks : 100 Time : 3 Hours

The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in
their own words as far as practicable.

1.  Answer any six of the following: 1x6=6
@-(PIC =B ACH T 1S 3

a) Name the phylum and class in which sea

anemone belongs.

Sea anemone (@ 7¥ '8 (X LG O 13 (74 |
b)  What is epiboly?

aforafer 752

c)  Write down the names of two non-poisonous

snakes of India.

SO0 76 KRG AT A @1Y |
d) What is discoblastula?

Discoblastula ¢

[Turn over]

e) Write down two parasitic adaptive features of

Fasciola sp.

D fan T

Fasciola sp.-93 76 s&_eie wfeifers

[SIRENGEN

f)  Give two examples of phylum Apicomplexa.
Apicomplexa (34 7o TwiEde #1%|

g)  What is Archenteron?

Archenteron ¢

h)  Which animals are known as triploblastic

animals?
fg-= R & Fiora wor =2
1)  What is Parapodia?
ApiicaAiie 6
J)  Give two examples of cephalochordata.
GRS vb Triggel @14 |

k)  Write down the characteristic feature of

Miracidium larva of Fasciola sp.

Fasciola sp.-43 =it sieta @ ey @12

2. Answer any eleven of the following:  2x11=22

@ QNEi’s ag Tea vie ¢

a)  Write down the scientific names of four

poisonous snakes of India.

CICed b1 aga Ao [eeerre 9w @4 |
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b)

d)

g)

h)

i)
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Write down two salient features of
Chondrichthyes.

Chondrichthyes-43 9 ¥oig& &A% (74|

Who are Urochordates? Why it is named so?

TGCARROEE FIA 2 Q0 G2 A (T 2
Name one oviparous mammal. Write down its

mammalian characters (any two).

TG 2110 o= G5 w2113 AT 1 @12 | 93170
RIIRE Nl

What are remiges and rectrices?
Remiges '@ rectrices ¢

Write down four characteristic feature of class

Mammalia.

G syiferE oIl Gy 19|

What is yolk plug? State its significance.
Yolk plug 2 @3 Sies¥ (=14 |

What is lateral plate mesoderm?

Lateral plate mesoderm 2

What is symbiosis? Cite example.

Symbiosis {2 Tnizae wie |

Write down the characteristic features of
Schizont of Plasmodium vivax.

Plasmodium vivax-93 Schizont-a3 (3%
GEN
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k) Differentiate between male and female
Ascaris sp.
%3 € &l Ascaris sp.~a3 LT @4 |

1) Differentiate between protostomes and
deuterostomes with examples.
Protostomes € deuterostomes-93 237
THIZIR (72|

m) What do you mean by gastrovascular cavity?
Cite example.
Gastrovascular 9123 Je1CS & (1[I 2 Swige 7l |

n)  Whatis Mesoglea? In which animal it is found?
IR 52 @b (iR Alfice stex TR 2

o)  What is nematocyst? State its function.
GRS 62 9 S @79 |

p)  Whatis "ink gland"? Mention its significance.
“Ink &f” 5 7 97 OleoR g 4|

q) Who are caecilians? Give two examples.
Caecilians SR I 2 Yo SHIZIA 7€ |

3.  Answer any seven of the following: 6x7=42

-] ATSS e Ted M6 ¢

a) Describe the structure of endostyle of
Branchiostoma with proper diagram. Add a
note on its function. Name the different types
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b)

d)
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of cilia present in the gill bar of
Branchiostoma. 3+15+15=6

Branchiostoma-43 USSR 510+ foaaz it
I 99 I TAT 9T B @9
Branchiostoma-93 gill bar-4 w3fZ®
Piferieferm I @12 |

Describe the process of respiration in toad
during tadpole stage. Write short notes on
Buccopharyngeal respiration and cutaneous
respiration in toad. 4+2=6
Toad-@3 tadpole WA W3 simiod AT F |
Toad-a3 4 &R 8 G P T F ey
Bl =14

What is a fertilization cone? Discuss slow
block to polyspermy. 2+4=6
12T *1% I A1 2 ~Afer==iififa 7 afocaiy siafe
SO S |

What is cleavage? Differentiate between

holoblastic and meroblastic cleavage with

proper example. 2+4=6
fFrew 2 2EARtT ¢ MERRTS Freres
Toge TuiRgepiR AL foefd 1|

Define echolocation. Discuss briefly the
process of echolocation in bats.
BRI AR (F7< | AR BRI
Awoq Tofe HFRE S 5 |
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g)

h)

1)

105(Sc)0S

Classify phylum Porifera upto subclass with
suitable characters and examples.  3+3=6
ToRe (@RE) € TrRAerTR o7 SRR Goiedl
S AR 4 |

Describe the canal system of Sycon sp. with

proper diagram. What is a gastrozoid?
4+2=6

Sycon sp.~43 W%Qﬂ@ PRI |

Gastrozoid &2

Describe water vascular system of starfish with

proper diagram. State the role of Tiedemann's

body. 4+2=6
O SR &6 HRAZTO(E G & oaorg A<yl 4 |
Tiedemann's body-a3 Sfs= (=74 |

Describe the life history of Ascaris
lumbricoides. Add a note on its pathogenecity.
4+2=6
Ascaris lumbricoides-43 GRN6(EE I W |
@7 =1 7B CeifEs ok ol @1 |
Describe the mode of transmission of dengue
by Aedes mosquitoes. Name the diseases (two
each) transmitted by sand fly and ticks.
4+2=6
Aedes | @Il (T @SR ARGl 2Fafed el
12| Sand fly @ Tick =¥ ifz® 7o F@ @M=
RICNGEE
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4. Answer any three of the following:

10x3=30

@@ foals 2 Tea 7 ¢

a)

b)
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Describe the structures of nauplius and
bipinnaria larva with proper diagram. State the

significance of these larvae. 6+4=10

Nauplius € bipinnaria FE %107 TRE fHarzg
I 9 | B TSI feTs Sl @Y |

What are the different types of corals?
Mention two important physical parameters of
coral reef formation. Add a note on
zooxanthellae. Elucidate the measures of

conservation of corals and coral reefs.

3+2+2+3=10
eites fqfen avefs e @iw 9w
todl 29T it g (eifes fFfewis @14
Zooxanthellae-93 o7 DIl (72 | (FIA @ (FRAIA
32 TR TAR A =72 |

State the characteristics of a ganoid scale.
Differentiate between ganoid scale with that
of placoid scale. What is a filoplume? Discuss
parental care in any one fish studied by you.
2+2+2+4=10

MTRC S-a7 [T @14 | ARG € AFEC
Sie-a3 ANy @74 | FREE e cormE sifde
@- (FI 930 W= “parental care” &l SIEB

4|
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d)
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Write down any four salient features of class
Amphibia. Classify class Amphibia upto living
orders with suitable characters and examples.

4+3+3=10

A SRR @@ 5T Toge @y @14 |
@ il oige @RiE e Trizadg
Gifrs3sl Sty T 7|

Describe the electron microscopic structure
of a mature spermatozoa. Discuss the growth
phase of oogenesis. State the functions of FSH
and prolactin. 4+2+4=10
G AT STl BTG S ACH 4B SHIC
IR 1 | GCSEAPTET i vl SiceTs= 1 | FSH
@ prolactin-€3 ¥ @74 |

Describe cleavage in chick. What are
extraembryonic membranes? Name the

extraembryonic membranes of chick. State
their function. 4+2+2+2=10

TFNR fFres oafe e 91 AfRgeAn omi 52
R4 AR 2 feT T (w74 | 2RI I @14 |



